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Required:

1. Redo the company’s income statement in the contribution format using variable costing.

2. Reconcile any difference between the net operating income figure on your variable costing in-
come statement and the net operating income figure on the absorption costing income state-
ment above.

EXERCISE 7-3 Variable and Absorption Costing Unit Product Costs

Shastri Bicycle of Bombay, India, produces an inexpensive, yet rugged, bicycle for use on the city’s
crowded streets that it sells for 500 rupees. (Indian currency is denominated in rupees, denoted by
R.) Selected data for the company’s operations last year follow:

Units in beginning inventory. . .............. 0
Unitsproduced. .. ... ..ot 10,000
Units sold . . . .o e s 8,000
Units in ending inventory . . ................ 2,000
Variable costs per unit:
Directmaterials ...... ... ... .. .t R120
Directlabor. . ... .. i 140
Variable manufacturing overhead. .. .. ... .. 50
Variable selling and administrative. .. ...... 20
Fixed costs:
Fixed manufacturing overhead. ... ........ R600,000
Fixed selling and administrative .. .. ....... 400,000
Required:
1. Assume that the company uses absorption costing. Compute the unit product cost for one
bicycle.

2. Assume that the company uses variable costing. Compute the unit product cost for one bicycle.

EXERCISE 7-4 Variable Costing Income Statement; Explanation of Difference in

Net Operating Income

Refer to the data in Exercise 7-3 for Shastri Bicycle. An income statement prepared under the ab-
sorption costing method by the company’s accountant appears below:

Sales (8,000 units X R500 perunit). .............ooovnn. R4,000,000
Costs of goods sold:
Beginning inventory ... R 0
Add cost of goods manufactured
(10,000 units X R _?_perunit). ...... ..o, 3,700,000
Goods availableforsale. .. ... i 3,700,000
Less ending inventory
(2,000 units X R_2_perunit). . ........oooveiinon. 740,000 2,960,000
GroSSMAIGIN « oo v et e e 1,040,000
Less selling and administrative expenses:
Variable selling and administrative .. ............. ... 160,000
Fixed selling and administrative .. .................... 400,000 560,000
Net operatingincome . . ... ... R480,000
Required:

1. Determine how much of the ending inventory of R740,000 above consists of fixed manufac-
turing overhead cost deferred in inventory to the next period.

2. Prepare an income statement for the year using the variable costing method. Explain the dif-
ference in net operating income between the two costing methods.

EXERCISE 7-5 Variable Costing Unit Product Cost and Income Statement; '~
Break-Even

CompuDesk, Inc., makes an oak desk specially designed for personal computers. The desk sells for
$200. Data for last year’s operations follow:
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Units in beginning inventory . .. ............. 0
Unitsproduced .. ........................ 10,000
Unitssold .................... ... ..... .. 9,000
Units inending inventory .................. 1,000
Variable costs per unit:
Directmaterials. ........... ............ $ 60
Directlabor .......... ... ............. 30
Variable manufacturing overhead . . ... ... .. 10
Variable selling and administrative . ... ... .. 20
Total variable costperunit .. ............... $ 120
Fixed costs:
Fixed manufacturing overhead . ... ........ $300,000
Fixed selling and administrative ........... 450,000
Total fixedcosts . ................ ... ... $750,000
Required:
L. Assume that the company uses variable costing. Compute the unit product cost for one com-
puter desk.

2. Assume that the company uses variable costing. Prepare an income statement for the year us-
ing the contribution format.
3. What is the company’s break-even point in terms of units sold?

EXERCISE 7-6 Absorption Costing Unit Product Cost and Income Statement

Refer to the data in Exercise 7-5 for CompuDesk. Assume in this exercise that the company uses
absorption costing.

Required:

1. Compute the unit product cost for one computer desk.

2. Prepare an income statement for the year in good form.

EXERCISE 7-7 Inferring Method; Unit Product Cost
Amcor, Inc., produces and sells a single product. The following costs relate to its production and sale:

Variable costs per unit:

Directmaterials. .. ....................... $ 10
Directlabor ............................. 5
Variable manufacturing overhead . ........... 2
Variable selling and administrative expenses . . . 4

Fixed costs per year:
Fixed manufacturing overhead . ... .......... $ 90,000
Fixed selling and administrative expenses . . . .. 300,000

During the last year, 30,000 units were produced and 25,000 units were sold. The Finished Goods
inventory account at the end of the year shows a balance of $85,000 for the 5,000 unsold units.
Required:
1. Is the company using absorption costing or variable costing to cost units in the Finished Goods
inventory account? Show computations to support your answer.
2. Assume that the company wishes to prepare financial statements for the year to issue to its
stockholders.
a. s the $85,000 figure for Finished Goods inventory the correct figure to use on these state-
ments for external reporting purposes? Explain.
b. At what dollar amount should the 5,000 units be carried in inventory for external report-
ing purposes?

PROBLEM 7-8 Variable Costing Income Statement; Reconciliation K
During Denton Company’s first two years of operations, the company reported net operating in-
come as follows (absorption costing basis):
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Required:
L. Assume that the company uses absorption costing.
a.  Determine the unit product cost.
b.  Prepare an income statement for the month.
2. Assume that the company uses the contribution approach with variable costing.
a.  Determine the unit product cost.
b.  Prepare an income statement for the month.
3. Explain the reason for any difference in the ending inventory under the two costing methods

and the impact of this difference on reported net operating income.

PROBLEM 7-1¢ Comprehensive Problem with Labor Fixed

Advance Products, Inc., has just organized a new division to manufacture and sell specially de-
signed tables using select hardwoods for personal computers. The company’s new plant is highly
automated and thus requires high monthly fixed costs, as shown in the schedule below:

Manufacturing costs:
Variable costs per unit:

Directmaterials. .. ...................... $ 86
Variable manufacturing overhead. ... ....... 4
Fixed manufacturing overhead costs (total). . . .. 240,000
Selling and administrative costs:
Variable. .. ... ... .. . 15% of sales
Fixed(total). . ........ .. .. ... .. ... ...... $160,000

Advance Products regards all of its workers as full-time employees and the company has a

long-standing no-layoff policy. Furthermore, production is highly automated. Accordingly, the
company has included in its fixed manufacturing overhead all of its labor costs.

During the first month of operations, the following activity was recorded:

Units produced. ... ............ 4,000
Unitssold.................... 3,200
Selling price perunit ........... $ 250
Required:
1. Compute the unit product cost under:

W

a. Absorption costing.

b.  Variable costing.

Prepare an income statement for the month using absorption costing.

Prepare an income statement for the month using variable costing.

Assume that in order to continue operations, the company must obtain additional financing. As
a member of top management, which of the statements that you have prepared in (2) and (3)
above would you prefer to take with you as you negotiate with the bank? Why?

Reconcile the absorption costing and variable costing net operating income figures in (2) and
(3) above for the month.

"% PROBLEM 7-11 Preparation and Reconciliation of Variable Costing Statements

Linden Company manufactures and sells a single product. Cost data for the product follow:

Variable costs per unit:

Directmaterials. . .............. ... ........ $6

Directlabor.......... ... ... ... ......... 12

Variable factory overhead. . ................. 4

Variable selling and administrative. .. ......... __3_
Total variable costs perunit................... $25
Fixed costs per month:

Fixed manufacturing overhead. .. ............ $240,000

Fixed selling and administrative.............. 180,000
Total fixed costpermonth .. .................. $420,000

The product sells for $40 per unit. Production and sales data for May and June, the first two

months of operations, are as follows:
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Units Units

Produced Sold
May ............... 30,000 26,000
June. ... L 30,000 34,000

Income statements prepared by the Accounting Department, using absorption costing, are pre-

. sented below:

: May June
BalES . $1,040,000  $1,360,000
Less cost of goods sold:
' Beginning inventory. . .. ........ i 0 120,000
' Add cost of goods manufactured. .. ............. 900,000 900,000
Goods availableforsale . ............. ... ... 900,000 1,020,000
' Less endinginventory . ............ ... oa... 120,000 0
. Costofgoodssold ........... ... v 780,000 1,020,000
. Gross Margin ... ...ovie e 260,000 340,000
Less selling and administrative expenses. .. ........ 258,000 282,000
' Net operating iNCoME . .. . .. .ovver e iaeenns $ 2,000 $ 58,000
[
Required:
‘ 1. Determine the unit product cost under:
a. Absorption costing.
‘ b. Variable costing.
‘ 2. Prepare income statements for May and June using the contribution approach with variable
costing.
, 3. Reconcile the variable costing and absorption costing net operating income figures.
: 4. The company’s Accounting Department has determined the break-even point to be 28,000

units per month, computed as follows:

Fixed cost per month ~ $420,000

Unit contribution margin T 815 per unit

= 28,000 units

Upon receiving this figure, the president commented, “There’s something peculiar here. The
controller says that the break-even point is 28,000 units per month. Yet we sold only 26,000
units in May, and the income statement we received showed a $2.,000 profit. Which figure do
we believe?” Prepare a brief explanation of what happened on the May income statement.

o/
“/“ PROBLEM 7-12 Absorption and Variable Costing; Production Constant,

Sales Fluctuate ;
! Sandi Scott obtained a patent on a small electronic device and organized Scott Products, Inc., in
' order to produce and sell the device. During the first month of operations, the device was very well
received on the market, so Ms. Scott looked forward to a healthy profit from sales. For this reason,
‘ she was surprised to see a loss for the month on her income statement. This statement was prepared
. by her accounting service, which takes great pride in providing its clients with timely financial
data. The statement follows:

BCOTT PRODUCTS, INC,
income Statement

Sales (40,000 UNitS) . ... i $200,000
Less variable expenses:

Variable cost of goods sold* ..................... $80,000

Variable selling and administrative expenses . ....... 30,000 110,000
Contributionmargin. .. .......... . oo 90,000
Less fixed expenses:

Fixed manufacturingoverhead ................... 75,000

Fixed selling and administrative expenses .......... 20,000 95,000
Netoperatingloss . .. ... . i $ (5,000)

*Consists of direct materials, direct labor, and variable manufacturing overhead.
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Ms. Scott is discouraged over the loss shown for the month, particularly since she had planned
to use the statement to encourage investors to purchase stock in the new company. A friend, who is
a CPA, insists that the company should be using absorption costing rather than variable costing. He
argues that if absorption costing had been used, the company would probably have reported a nice
profit for the month.

Selected cost data relating to the product and to the first month of operations follow:

Unitsproduced. .. ... ......... ... ........... 50,000
Unitssold. ......... ... . . i . 40,000
Variable costs per unit:
Directmaterials ........................... $1.00
Directlabor. . ........ ..o . i 0.80
Variable manufacturing overhead. . ............ 0.20
Variable selling and administrative expenses. . . . . 0.75

Required:
1. Complete the following:
a. Compute the unit product cost under absorption costing.
b.  Redo the company’s income statement for the month using absorption costing.
¢. Reconcile the variable and absorption costing net operating income figures.
2. Was the CPA correct in suggesting that the company really earned a “profit” for the month?
Explain.
3. During the second month of operations, the company again produced 50,000 units but sold
60,000 units. (Assume no change in total fixed costs.)
a.  Prepare an income statement for the month using variable costing.
b.  Prepare an income statement for the month using absorption costing.
¢ Reconcile the variable costing and absorption costing net operating income figures.

PROBLEM 7-13 Prepare and Interpret Statements; Changes in Both Sales and
Production; JIT . '

Memotec, Inc., manufactures and sells a unique electronic part. Operating results for the first three
years of activity were as follows (absorption costing basis):

Year 1 Year 2 Year 3

Sales ... $1,000,000 $800,000 = $1,000,000
Cost of goods sold:

Beginning inventory .................. 0 0 280,000

Add cost of goods manufactured . . ... ... 800,000 840,000 760,000

Goods available forsale............... 800,000 840,000 1,040,000

Less endinginventory. ................ 0 280,000 190,000
Costofgoodssold..................... 800,000 560,000 850,000
Grossmargin......................... 200,000 240,000 150,000
Less selling and administrative expenses . . . 170,000 150,000 170,000
Net operating income (loss) .. . ........... $ 30,000 $ 90,000 $ (20,000)

Sales dropped by 20% during Year 2 due to the entry of several foreign competitors into the
market. Memotec had expected sales to remain constant at 50,000 units for the year; production
was set at 60,000 units in order to build a buffer of protection against unexpected spurts in demand.
By the start of Year 3, management could see that spurts in demand were unlikely and that the in-
ventory was excessive. To work off the excessive inventories, Memotec cut back production dur-
ing Year 3, as shown below:

Year 1 Year2 Year3
Productioninunits . .............. 50,000 60,000 40,000
Salesinunits . .................. 50,000 40,000 50,000

Additional information about the company follows:

a.  The company’s plant is highly automated. Variable manufacturing costs (direct materials, di-
rect labor, and variable manufacturing overhead) total only $4 per unit, and fixed manufactur-
ing costs total $600,000 per year.




